Lecture 30

Friday, November 10, 2017 12:16

To do ...
* CBTF Quiz 6 — next week!
® 211 students DO NOTTAKE 210 final, or you will get a

zero on 211 final

® HW 21 due Sat
e HW 22 due Tues
e HW 23 due Thurs
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Composite bodies

A composite body consists of a series of connected simpler shaped bodies.

—_————

Such body can be sectioned or divided into its composite parts and,

4 P P
provided the weight and location of the center of gravity of each of these
parts are known, we can then eliminate the need for integration to

determine the center of gravity of the entire body.

>
YW > xm 2 XV N f—xA
X7 2w 2 M 2\ 2 A
@ Voluwe NeA
\pa)S\ML W5
Protedure for AMRYSIS
e
ipe W bed who  pieteS st ARE Ynown Shapes.
B 3 oR S«

. . 4 \‘H
LD thles Arle wnsioeRE) pletes Lith V‘€5A'H\l¢ w€3

Lectures Page 2



N\p,\/_é A +=ble

— weight Mmess, pmomert A ] N o
secment #F ! . T Y %A) J , W
VO\\AMQ) A(ep‘ -‘(” \j )
Tw, ZA \ \ zh | 2YW
S S Ru o 2%V A
- AppRopRite €S, - 2IW =R ST
e e LN 2 M SV Z

Lectures Page 3



Page 3

Friday, November 10, 2017 12:16

Centroid of typical 2D shapes

Shape Figure T ] Area

| b h bh
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<3 3 3 2
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Semielliptical area 0 e xan
3r 2

n.wikipedia.org/wiki/List_ol_centroids
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! Find the centroid of the area below.
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What is the centroid of the resultant
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b, 2b b, 2b b

“ﬂ.‘ I.,__.. 4__..1 |..._ Find the centroid of the area below.
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The truss is made from five members,
each having a length of 4 m and a mass
of 7 kg/ m. Determine the distance d

to where the hoisting cable must be

attached, so that the truss does not tip
(rotate) when it is lifted.
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1. Rear wheels I8 1b
y 2. Mechanical components 85 Ib
3. Frame 120 Ib
4. Front wheel 81b

130 ft

ga,\mwt w(uo\j P‘Jﬁ %W

Determine the location of the center of
gravity of the three-wheeler. If the
three-wheeler is symmetrical with
respect to the x-y plane, determine the
normal reaction each of its wheels
exerts on the ground.
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